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Test 3
ECN150
Spring 2011
Wake Forest University
Instructor: McFall

Ceo,

Lucky’s Diner has the best breakfast in town. However, Lucky knows a fot more about hash
browns than economics. He’s been trying to monitor his diner’s production function and needs
some help. Fill in the missing entries in the table below:

Name

# of Workers Total Product Average Product of Marginal Product of
Labor Labor
0 0 N/A N/A
1 12 ve /1 =i 2 12
2 273 = 17 7z
3 St | F 17
4 64 Gl =14 13
5 30 Feoly v juy 6

Lucky wants to know why marginal product of labor increases, reaches a maximum, and
then declines. Explain briefly.
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2. Currently, Lucky can only hire labor if he wants to increase output. Suppose that a unit of
capital costs 40 and a unit of Jabor costs 10. If Lucky's production function is Q = K°L” and

Lucky’s employs 16 units of capital, then how many units of labor does he need to hire in order
to fill 40 orders in a shift? What does it cost in order for Lucky to fill these 40 orders?
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3. Suppose Lucky can change the amount of capital that he employs at his diner and faces the
same prices for capital and fabor as described above. How many more orders can Lucky fill if his
costs remain unchanged from the short run answer you found in question 2? Explain briefly.
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4, Show the outcomes from question 3 and 4 on a single graph, with isoquant and isocost lines.
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Pictured below is a graph of the costs of production incurred by a firm in a competitive market.
On the graph, draw four marginal revenue curves, one in which the firm earns profits greater
than zero, one in which the firm earns zero economic profits, one in which the firm produces
with a loss and one in which the firm shuts down. Label! these curves MR1-MR4, respectively.
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6. What could Lucky do in order to decrease the cost per unit he incurs for making breakfasts?
How might this alter his production function that is described in question 27?
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7. Paulie’s Pizza exists in the perfectly competitive pizza market. The price of pizza is 4.4/slice.
Paulie’s cost function is C = 200 + 0.4q + 0.01q".
a) What is Paulie’s marginal cost function?
b} At what output level does the marginal cost curve intersect the average variable cost curve?
Average total curve?
¢) How much pizza will Paulie produce? What are Paulie’s profits for producing the amount of
pizza you specify?
d) Since Paulie’s is a representative firm in the competitive pizza market, what can we expect
with regard to entry into or exit from this market in the next time period? Explain.
e} At what price would Paulie be indifferent to shutting down and producing with a loss?
Explain.

YR o » \
2N > Mooz u.:?m - O o 80 % { Tedls, i ot P

r)

q;’ffe‘ﬁwﬁ%-;”ﬁt&ugﬂE__ %Mw & ”W%%”ff““f’ {'Lwﬁfa%w’ﬁw e )
C:‘(/ E:,

‘Sﬂ,?ﬁ 2. ?}Mﬂ 5“7(} .,/% M & Rt oG Sﬁir”"f w/{g‘m ?w wa*i:m!a@@‘z

/
ATe = £ maw
7 o D4 O 01,

el £ PR
& } M ifz v b Sf f'i,fw f{ ?ﬂ\ M,}é’fﬁﬁfm# ﬂﬁkﬁwh%ﬁ i [{’; £ '“?g‘?é M fg -
=D %" s VOO T Pew =T B S5 = bo
A W
&j ) f’: E . L P f Wb ’i A .ﬂe’;w W@W%ﬂﬂ“ﬁt‘“ﬁw W - IAY w,w‘?( T S L

A ﬁ#mw’?{ oy ?““"?}«* “f‘{ J e .«*""?{ »ﬁi’ﬁ-ﬂ’“‘ Zﬁwﬂ.. P W"“‘“’@*‘”’f Mm""‘"@
o

ﬁ{ LA ..?;;\amwﬁ,@,, ; a4 *#»M &"’/ Sttt g, wf"'f WK“L‘ %"&f{ “’f s Lt i,

f) {‘;#ﬂ«fé:é? At {’ ﬂ M " y?‘ f T fw**’@f o fi‘#ﬁ‘%ﬂ@f ,7&?‘ e e {

A ‘{;{N & ,‘{ .w ¥ ’ - \««‘:
W:j ffﬁ & (e"‘%-fﬁ"v@:’im p"*ﬁ Ped, e ; wwg £ é/,/w:’ﬁmfw’fﬁ p /’{2{ v f ¢
%

,ar"?v k_,\h:.g,mv.n‘"hﬁ“ ' ;%gf“ b%n P - d



8. With firm’s long run decision-making in mind, comment on one of the following statements:

c) “Our county [Starke Co., Indiana] is very high in the state as far as the unemployment rate
goes, because so few of the eligible workers are actually tied to agriculture. They're still
fooking at manufacturing jobs, and that has no direct relationship to the agricultural
economy in our area.”

-Farmer Virgil Brown
“US Farmers Flourish as Grain Prices Soar”
Financial Times, March 30, 2011

d) “as a firm gets larger, there may be decreasing returns to the entrepreneur function, that is,
the costs of organizing additional transactions within the firm may rise. Naturally, a point
must be reached where the costs of organizing an extra transaction within the firm are
equal to the costs involved in carrying out the transaction in the open market, or, to the
costs of organizing by another entrepreneur.”

-Sir Ronald Coase
“The Nature of the Firm”
Economica, November 1937
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